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SECTION - A : MATHEMATICS (#5e38 7~3930)

1 (6+5J3')—(4—3J§) is

(1) Rational number (2) Irrational number
(3) Natural number (4) None of the above
(6+5J§)—(4—3J§) oD%

(1) os6dar Sopg (2) $8edax Sowg

(3) Sz Dopg 4) WP

2 Which of the following rational number have terminating decimal?
808 636" O e86edan dowg eoé&d'bs Szo7°)) $OA dotwod?

7 16 5 2
i . AR ) 7 e X
H 250 ) 225 e 18 @ 21

3 HCF of 2023, 2024, 2025 is -

2023, 2024, 2025 o @y K.
(1) 2024 (2) 2023 (3)0 4 1
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4 The value of logg2 +log, 3 is <ol
logg 2+ logg 3 @ns, dewd
(H o 2) 1 3) 2

S Exponential form of logya=c

logya=c B Hrd Erdhmn

HEORE () a€=b 3) a=c

6  The product of prime factors of 2024 is
2024 @wgy H6rd s erosre SPE
(1) 11 x23 x32 (2) 23 x11x23 (3) 7x23x23 (4) 23 x 112 x 22

7 Which of the following two sets are equal sets?
(80d Bodhy deeE® D HErd HAeéen?

(1) 4={5,6}, B= {5} (2) 4={5,6}, B='/{.5, 6,7}

(3) 4=1{5,6,7}, B={7,5, 6} (4) A={5,6,8}, B={5,6,7}
8 {0} is a set which has elements.

{0} w38 Drosto LOA ¢ HDa.

(1) 0 ) 1 Q) 4 “4) 3

9 If P(x)=11x"=5x°+4x* ~7x% +6, then the degree of P(x) is

P(Jc)=llx8—5x6 +4x* —7x? + 6 wans, P(x) By BBAredn
) 8 (2) 6 (3 4 . 4) 2

10 If -1, -2 are two zeros of a polynomial 2x° +ax2+bx—2, then the valu

3 23 +ax? +bx -2 o LS Bw&y Bod drargen 1, —2 wawd, a Hdatw b &n
| g el

BT b
<



11

12

13

14

15

If o. B are the zeros of the polynomial P(x)= 3x2 —x—4, then o-B =

P(x)=3x2—x—4 O IVHD By drargen o, wond, o =
—4 4 ~1 I
— - R 4) —

@) 5 @ 3 0= 3

Which of the following equation represent the situation where Kiran boEJght 5 oranges,
7 apples and Harish bough{ 2 oranges, 12 apples for same amount of total money?

855 5 >Bomen, 7 atrdey ooy 8§ 2 TBomen, 12 axrrddy BB o8 Inerds
Fo ). 808 SDESTos® SDoNrd) {rdoB SDEEHHY J6?

(1) Sx+12y=2x+7y ) (2) Sx+7y=2x+12y
3) Sx-7y=2x-12y (4) S5x+2y=Tx+12y
2 3 4 9
If =+—==2 and —=—==-1, then
PN ERD

2 3 40 9

—— i — = LB —_— ] S,

\/; ‘/; "/—;‘D‘n‘/; i i

(1) x=4,y=3 2) x@®2, y=9 3) x=4,y=9 Q) x=2;y=3

The pair of equations x+y=35 and 2x+2y=+k has infinitely many solutions if k =

X+y=5 HBaxy 2x+2y = 0 SDEEETO 238 ©I0SHH F SV DA doad 0, k =
(1) 4 (2) 6M 3) 8 (4) 10
Q

& i
If a—l = b_]’ where a;x+bypry ¢; =0 and a,x+b,y + ¢, =0 are two linear equations,
2677 e
then the equations ;
(1) have a unique solution (2) have infinitely many solutions

(3) have finite solutions (4) have no solution
a b
;L?*b—l ©ahgexrr alx@)wcl =0 Do ax+byy+cy =0 &I Botks Bdaw
2 2
B EC6 BB, & HdrEderen ?)
(1) B8 > $0A doeranif) (2) ©dodD Jhen DA dotran
(3) SBDLEBH desden EON doron (4)  Fde KON dodd)

POLYCET-2024—A | 3
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16

17

18

19

21

(1) 20, 5D (2) 15, 10 (3) 20, 15D

gD 32 (2) 16 (3)‘0

‘20 18, 16,

The value of p, for which the pair of equations 3x+4y+2=0"and 9x+ py+ 8=0
represents parallel lines, is

3x+4y42=0 &Bak 9x+ py+8=0 ob shésere a8 Siross Spod ArdoDD,
P end

1) 2 2) 4 (3) 6 4) 12

The roots of the quadratic equation x> —4x+4=0 are

X —dx+4=0 o 58 SHEde Dreren
(1) 4,1 @) 2,2 8) 2 2 4) 4,2

WIET . L4

The sum of the roots of the quadratic equation 3x% —5x+2=0 is

3x2 —5x4+2=0 o‘éégéﬂbéda rere Bodsn

m 2 @ 2 O @ 3

Sum of the areas of two squares is 625 m2. If the difference of their penmeters is 20 m,
find the sides of the two squares.

(1) 20m,Sm (2 15m, 10m  (3) 20m, 15m  (4) 25m,5m E:

Both SO Berorgo o 625 5.0, 3 ey Fose Hestn 20 D, wavs, © Bod
SédPre Herod SHF" .

4) 25,5

The discriminant of the quadratic equation 3x2 —2x+l=0 is

3x? -2x+-;-=o o 55 86y @ngy g

WluchtamoftheAP 20, 18 16



22

23

24

25

26

27

How many, two digit numbers are divisible by 37
3 & yrhosed BodoBe dopgen A)?

(1) 25 (2) 28 (3) 30
In a G. P. the 3 term is 24 and 6™ is 192, then the 10" term is

o8 HREIS® 3 D HsEL 24" HBow 6 S HSEL 192" wond, 10 H DS

(4) 36

(1) 2072 (2) 3072 (3) 1072 (4) 1672
The common ratio of G. P. : 25 -5, 1,—-5—1. ......... is
25,-5.1, ‘?‘ ......... o Hnds Angy rarsg K8
-1 1 2 3
& 2) = 3y £ 4) =
(1) 5 (2) s (3) 5 ) 5

The distance between the points (xl, yl) and (xz, yz) is

(x1: 7)) ®0at (x5, ;) Bosie wes drsin SFwES GrEin

(1) V/(XZ—xl)z'*'(J’z—yl)z () ‘/(x2+x1)2+(y2+)’|)2

(3) J(x:Z - X )2 —(y2 - )2 4) J(xz +X )2 —(yz +0 )2

The coordinates of the point which divides the line segment joining the points (4, -3)
and (8, 5) in the ratio 3:1 internally is
DochPen (4, -3) wbaw (8, 5) B ) Tprpodand 3:1 ABS* wodsborr esBoH

Dot Arssren :
(1 3,7 (2) (7.3) (3) F7%a) 4) (-3.-7)

The centroid of the triangle with vertices (1, -1), (0, 6) and (-3, 0) is
DochPen (1,-1), (0, 6) w8 (-3, 0) e Fgenre o Bedain @nE) HhHse To o

2 5 i 4.0 7 =5
) ('3"'3') @ (T"s_) ) (T’?) ®) (E‘T)
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28 Areca of the triangle formed by the points (-5, -1), (3, -5) and (5, 2) is
(=5, -1), (3. -5) ®daw (5,2) ©d Dochipos® I8k (Bebes Jrrogin
(I 32 ) 22 (3) 42 (4) 52

29 In AABC.if.-DsnBc,-“é-g-=-:- and AB = 5.6 cm, then AD =

A4ABC & DE|| BQ%:% ©6a AB = 5.6 %08, eand, AD =

30 In AABC. DE||BC.1fAD=x,DB=x-2,AE=x+2 and EC=x- 1, then the:\f‘ﬂ"e

oS . L > o %
ABC & DE|BCgiAD=x, DB=x-2, AE=x+2 $00% EC=x- 1 wc
0 w toie P
x?mé____ ('3 sl slotde)

4




32

33

35

A girl of hcigﬁl 90 cm is walking away from the base of a lamp post at a speed of
120 cm / sec. If the lamp post is 360 cm above the ground, then the length of her
shadow after 4 seconds is

90 0., X Ko &l wrdE Boin ©od Erdivrr 120 0.8/ . BEnE HhSHSH)0.
B5%0gn I 360 0., wand, 4 Dsod SHTE N8B © 208 D FEYH
(1) 90 em (2o..) (2) 120 cm (0.2.) (3) 160 cm (0.8.) (4) 180 cm (0.2.)

If the ratio of corresponding sides of two similar triangles is 2:3, then the ratio of areas
of these triangles is

Both D |Bghere ©drd there RS 2:3 vond, & (dzhere Brergo RS,
1 2:3 ) 2:43 (3) 4:9 (4) 16 : 81

If ABC is a right triangle right angled at ‘C” and let BC=a, CA=b, AB=c and let p
be the length of perpendicular from C on AB, then

(1) cp=ab (2) —12-=—12-—-b% (3) a2+b2=p2 (4) None
L, AN

eows’n (Bzbadn ABC & oonfomin B ‘C’ ¥ $ocw. BC=a, CA=b, AB=c
oo ‘C” od AB 8 AN vowdn FEP) p @ond

s | 1 2 2 )
(1) cp=ab (2) ?—a—z—b—z (3) a“+b°=p (4) 28 o0

If the areas of two similar triangles are 81 cm? and 49 cm? respectively. If the altitude
of the smaller triangle is 3.5 cm, then the corresponding altitude of the bigger triangle
is :

(1) 9.5 cm (2) 9 cm (3) 7 cem (4) 45 cm

Bod 67 (Behere Barogen 81 5.20.2. DA 49 $.%0.2. D%) (Behesnd® ADS eowdn
TaY 3.5 0.0, wond, D (Bghand® o) VRErS vowin TP

(1) 9.5 20.%. (2) 9 20.. (3) 7 0.. (4) 4.5 20.2.

A tangent to a circle touches it in __ point(s).

(1) one (2) two (3) three (4) infinite
5)erd8 Aaneds 56389 oD ____ Dohi(e) B 93)3000.

(1) a8 (2) Bod (3) drd (4) ©dod

SPACE FOR ROUGH WORK / 0& 98 8erauosuds ot
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36

37

There are exactly tangents to a circle through a point outside the Cll’ch_.—,;

(1) two (2) three (3) infinite (4) None
5)8 erirgod® o D Doty oo Sygd8 pdydorm 6 Ppen
(1) Bod () ey (3) wsos (4) 96 s,
i | 8]
The length of the tangent from a point 15 cm away from the centre of a cirdlélof rz
9 cm is 3 0
(1) 15 em @) 13 ecm (3) 11 cm (4) 12 cm “
9 0.2, Tgdghnm fo 5)g7d8 o Soo ©08 15 o.d. ErsEns® o8 Dochyp Soc.
®o0%, & Dot Wod H)5rd8 Aahdd VY60 J ) y ™
(1) 15 20.%. (2) 13 20.2. (3) 11 %0.%. 4) 12 ’a@;
3
If AP and AQ are the two tangents to a circle with centre ‘0, so that ZPQQ =110°, -'
(808 23506° *0” Boawn Ko )88, AP ©8atw AQ e Both ¥)6;Bwen Podar E
ZPOQ =110° @an®, LPAQ = ™M
o
O
A 53]
(9]
™~
o
h @ 0 ©
Vg
e @) 70° () 80

- SPACE FOR ROUGH WO
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41

42

I two concentrie cireles of radii § ¢m and 3 cm are drawn, then the length of the chord
ol the larger circle which touches the smaller circle is
(1) 4 cm (2) 6 ¢cm (3) 8 cm (4) 10 cm

§ 0., ®oak 3 To.b. T gdrenel Bods D6 ol byeren Aovwgron. wowd, D4y
) NP0V 1ef H)ddn Al eng iy
(1) 4 Do, (2) 6 o, (3) 8 Wo.t. (4) 10 %0.2.

. .
The.area of a sector, whose radius is 7 cm with the angle 727 is

(u%n=%—2—)

(IL‘:?R cm? (2) 30.8 cm? (3) 28.8 cm? (4) 57 cm?
H)8 Tgddin 7 Do.b. Do D Fwitn 72° wand, D Prroghn

(r= L | S0 HEwn)
ke 7

(1)7B8 S %0, (2) 30.8 S ok,  (3) 28.8 S0,  (4) 57 S0,
Q

If@right circular cylinder has base radius 14 ¢cm and height 21 em, then its curved
. . 22

surfyce area is . (use ™ =-:,-)

(1) 924 cm? (2) 2772 ¢cm? (3) 3080 cm? (4) 1848 cm?

w4 (5D B)EreS Jrisho @wEy erargddin 14 Do, D00k ) 21 0.,

o@'&. © i HEse Derogin (m= % ©d B8 D)

0
(1924 S0, (2) 2772 S 0. (3) 3080 S.20.0.  (4) 1848 5.%0.5.

"lh‘pvolume of a right circular cone with radius 6 cm and height 7 ¢m is
(use m= -2—72-)
(1,264 cm? (2) 792 cm? (3) 301 cm? (4) 616 cm?

6 Bo.. girongddihn Do 7 To.d. I8 SOAY el 8 S)ersed Foan G,
O
DABdEr o) (n= 272 ©d HLE L)

5

(1) 264 2o, (2) 792 .20, (3) 301 .20 (4) 616 .20.5.

POLYCET-2024—A | 9
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43 If a cylinder and a cone have bases of equal radii and are of equal heights, then v

their volumes are in the ratio of

&8 BB ook Fogud) JIrD drar g gint Hoow IHD ) 6o jow.
S8 HIBIredve RHd

(D132 RS (3) 341 4) 1:4
If two cubes each of volume 64 cm? are joined end to end together, then the su 1
area of the resulting cuboid is : ,
(1) 128 cm? (2) 160 cm? (3) 192 cm? (4) 384 cm®
64 Y 0., PHIJOIrHIL Ko Bod HDMd IV ®oihen & HHL VE 2
LoD, AEYBD (B8 HTEYB @) Sordse PToghn 2
(1) 128 S 20,  (2) 160 S.20..  (3) 192 S0,  (4) 384 5.200.20.
45 The value of sin?15°+ cos®15° is

sinZ215° + cos215° @y dewd

1 1
(1) 0 2) 1 (3) 5 4) 75.

46 A chord of a circle of radius 4 cm is making an angle 60° at the centre, then the len 4":
of the chord is
(1) 1 cm (2) 2 cm (3) 3 cm (4) 4 cm
4 20.9. T g0 SOAD $)806° 2.8 erg ’QoLdo 58 60° Swo Bwod. OJPd, @ eg ¢
(1) 1 20.2. (2) 2 0.. (3) 3 20.2. (4) 4 20.2.
47 If cosecB +cot =k, then the value of cosec® is
cosecB +cotB =k wand, cosecH gy dewd
k2 +1 k-1 |
(1) (2) 0 3 )
( )‘ k241 4) i

SPACE FOR ROUGH WORK / o a0 8 =1
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49

51

A+ B) .
If A, B and C are interior angles of triangle ABC, then the value of cos( 5 J 1S

A, B 00t C e |8gbeo ABC 6D woés 8add, cos(fiﬁ-g-) B8y Dewd

A-B . O
(1) cos( ) (2) sm(A+B) (3) sin—C- O (4) 6052
2 e 2
)
The value of cos54° cos36° —sin54°sin36° is
c0s54° c0s36° —sin 54° sin36° @nEy Jend
r~
3 |
1) 0 2573 —_— 4) ——
(1) (2) (3) > 8 (4) ‘5

A boy observed the top of an electric pole at an angle igjlevation of 60° when the
observation point is 6 meters away from the foot of the polé; then the height of the pole is

(1) 6m @) 64Z m (3) 643 m @) 76- i
=~ 3

o8 wrend 2.6 HorgB H0%io e oo @ob 6 . cr6od® &) Doy wod dgh
;.aooo"ev'mal 60° &g o8 $08D0DH, © Hogo I 8

\)
1) 6 5. 2) 642 b 3G) 643 . 1) (@) :% .

From a helicopter a person observes an object on the ground at an angle of depression
30°. If the helicopter is flying at a height of 500 m from P\e ground, then the distance

between the person and the object is "
() 500
2) 1000 3) 500+/2 4
(1) 500 m (2) m (3) J'% ()T3m

o8 0w wob o8 ig8 crdB) el BHYD 307 ml&o' 0800 d. DD
o8 OEEE 500 B, 2Hd* Hobdr 0B, 288 ook, SyHs Mg drody

(1) 500 5, 2) 1000 . () S00Z & @ %‘5‘1 5
Mm

SPACE FOR ROUGH WORK / 0& 08 w@m goiw
g}

in
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Two bovs on the either side of a temple of 45 meters height ohserve its top at the
angles oyf clevation 30° and 60° respectively. Find the distance between the two boys?

60 40
H 6043 m 2) 4043 m 3) 7;‘ m (4) ‘3 m
45 5. dbrie 18 M Ry, D aBBYHE) add erend 30° Hoatk 60° tngest o
0D, ¥ Bgh wrend DSy Erdo Jod?
60 40
(1) 6043 5. (2) 4043 &, ® 5 5. @ F .

Two dice are thrown at the same time. What is the probability th;;t the sum of the two

numbers appearing on the top of the dice is 13? 1
Bod Deen e8>0 5'QoSto OAOD. Both FDP EMWod W Iwdo 13 widgards ;
'1
|

Bogrigd Jod?
1 2
(1 (2 S 3) 3 4 0 .
One card is selected from a well-shuffled deck of 52 cards, the probability of getting
the queen of diamond is ~
o 8055 52 B Sug o S08 atrd)D)Sorr el G 8, 08 Bod ool a8
1 3 1 1

)3 @ 5 B)igg @ 3
A Kiddy bank contains hundred 50 paise coins, fifty ¥ 1 coins, twenty T 2 coins and
ten T 5 coins. If one of the coins will fall out when the bank is turned upside down,
what is the probability that the coin is ¥ 5 coin?
08 84 7508 der )6 5065 50 %0 >Biwen, AP T 1 Biven, 363 T2 wBdnen Hoak
20 3 e 6 jon. der)d doBoden BupdYr atrd)Dysom a8 B0 e,
©8 T 5 oBiw siard8 Soordgds Jod?

3 ek . 1
,m 9 T @3 @ 5

R"inr‘""“m‘mi“"W°""ki“‘“"‘“’50‘“»120“1,3¢m.6<=m,!h:mandftcm,

 the average rainfall per day is o
(1) 4cm (2) 5cm (3) 6 cm 4) 7 em A

o8 Froiwd’ o el S0 4 Tob., 5 Do, 12 0D, 3 Do 6 Tod. § T,
D00 4 D0.. wawd, &8 Ferd® sorse sty ;

(M) 4%d () Swb (@) 6mb, 4) 7 2o,




59

Which of the' following is not a formula for arithmetic mean?

& (800 26" wosAE HinIH A 5908 D67

Ji%; Jid;
(1 % (2) a+Z

2/
Z&] Lot
3) a+ x h | 0
( [Zf: 4) 1+[2f]_f0-f2}xh

Mode of the data 9, 10, 19, 7, 11, 5, 6. 7., 8, 14, 10, 7, 6 is
9.10, 19,7, 11, 5, 6, 7, 8, 14, 10, 7, 6 &3 dsrodo Gy erdesin
(1) 6 ) 7 (3) 10 4) 19

In a grouped frequency distribution, the formula to find median is

05 8 D :PIy WraTe8, desgrdin Jr(@hn

ﬁ+cf Ztof
(1) 1+]2 x h @) 1-|2 x h
f 7
E""f E—cf
(3) I+ X h @) 1-|2 % h
/ b/
The median of 75, 21. 56, 36, 81, 05 and 42 is
75, 21, 56, 36, 81, 05 Hbax 42 © DHEgHSH
(1) 36 (2) 42 (3) 56 @ 21

SPACE FOR ROUGH WORK / 9& 08 Seravoswds Sodo
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66 A light ray passing along principal axis of a lens is

(1) Deviated (2) Reflected (3) Refracted (4) Undeviated

B8 Derar g0 Bowd [Harrdod 5208 8dman

(1) dSodo Fodd (2) HovdHo Bohd (3) Hiesto Bokhd (4) o Fodd
In which one among the following cases the convex lens does not give a real image?
(1) When the object is between focal point and optic centre

(2) When the object is beyond the centre of curvature

(3) When the object is between the centre of curvature and focal point
(4) None

& 800 9 08E)06" LSS S0 Jes (HBDowO BHYEH?
(1) = dax &F &8 So|to WEg HBYH® SOV PE
(2) S8 Y& So|BodSH BdSL YD GoDHHPE

(3) HEeSoo woaK TP W HKyHD S0P

(4) 28 =

A convex lens kept in a medium with refractive index less than the refractive index
of the lens behaves like

(1) diverging lens (2) converging lens

(3) plane mirror (4) concave mirror

©ogrs S S5 o KBS Heso Eor) %5 H8S Heso o axrdgos® GODRIPH
©0 B 5B N Bod?

(1) JBobsse sb%o (2) Solb88e s&r%0

(3) vée s8mo (4) derss s8ymo

The focal length of double concave lens having refractive index 1.5 kept in air with
two spherical surfaces of radii R, =20 cm and R, =80 cm is
(1) -16 cm (2) 24 cm (3) =32 cm (4) 48 cm

ses SEei0 mosin 1= 1.5 m fo Bgherss ko mdS' doswdin. & Shso @y
Bods S|gdere e Frgdrgren SEIM™ R =20 2o0.d. 206050 R, =80 o.d.
©ANY, S FrgrgodCo Jod?

(1) 16 2o.. (2) —24 o.. (3) 32 20.0. (4) 48 o..

SPACE FOR ROUGH WORK / D& 538 Seronoseds dodw
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70

71

74

(1) 5 cm (2 5o (3) 10 cm
a»g;o 4D ®ond, 0% Tergoddan
| (1)06 20.2. (2) 15 0. (3) 10 20..

'(l) vision (2) accommodation i

The formula for refractive index of a prism is

B8 HESSS OmEILBG Sr|EEn

(1) n= @) n=
' E sin A;D) sin(—;i)
O
A+D
a)lé!:sm( 5 ) S n_sm(A+D)
sm(i) sin (4)
2
¥ distance of distinct vision of a healthy persoﬁ is
(1)¢25 mm (2) 25 cm (3) 25m . (4) 25 km
S0HBD SrSHIB B Sy SR ErsEn | ) i
(125 .. (2) 25 20.. (3) 25 . (4) 25 |

The focal length of a lens having power 4D is

Th‘efect in eye vision that people cannot see objects at "'f
(1) etropia (2) presbyopia (3) myopia %!
&%) HoPHod Srddd o8 Batn

(1) &g e ) .sescsm

m:@a (©38owo 6B Mgorr 0 ;

m mdﬁ (2) Speren




75 The appearance of red colour of the Sun during Sunrise and Sunset is due to

(1) Dispersion of light (2) Scattering of light
(3) Total internal reflection (4) None
ar8*gBaK00, WrPorgEHan SHAres® irdigdh X SARODHE STEHED
(1) 508 JgH0 (2) s°08 HOEH0
(3) SoRroross S0 (4) Db =&
™
76 The S.I. unit of electrical resistance is &:
(1) ampere (2) volt (3) farad () (4) ohm
Deg8 6* 0 By S.1. Eirein -
(1) wobatb 2) $& (3) 06 (4) &5
77 Formula for specific resistance is :(
285 I8 IS0 CJ:
\Ye
_RA _LA _ IRy R
1) o=% )75 o ®) P=4A AR

78 The current in a conductor is directly proportional to the potential difference between

its ends at constant temperature. This is known as
(1) Faraday's law  (2) Kirchhoff's law (3) Ohm’(Q%aW

6 (S 3 28 S0t ASogB (Hririn, irE Bath Do EgO 2 BIHS P8
oSt irhdrE$os’ dodmd. B D B0 Votrd. :f;

(1) 68 dovddw  (2) 8675 Javdw (3) & JaHHn

(4) Newton's law

(4) &rgesS dasirdn

79  Kirchhoff's junction law is based on conservation of

(1) energy (2) momentum

(3) charge (4) angular’ momentum

855 2085 Do O F°8E oo JSgSLIND ©V0,HY0B?

1) 4 @ weglids

(3) eBddw (4) Sedon (SBgREEN
SPACE FOR ROUGH WORK / & "‘”w?"‘"’
™
Q
0
i)
ok
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80 Calculate the resultant resistance in the following circuit. ‘ S
& 1808 Swanos® $dE 'S0 Jod?

81

: a 7Q s

4Q

12Q

1,

(3) direction of the magnetic field ~ (4) charge

 (3) wo>p08Es O (4) ..w.»

field is called |
(1) Magnetic flux density @) Ma
(3) Magnetic field (4) |
Dotrtr? 85

(1) watdy08 whorir Fods

It |
% i

() 3 (2) 100 3) 13Q 4 7Q

e B |

The instrument to measure potential difference is .,
(1) Ammeter (2) Voltmeter (3) Galvanometer ~(4) Wattmeter

BYand Bod) SO H086H SRR )
(1) oo (2) SSheb (3) megTdeb  (4) EWEE

The tangent drawn to the magnetic field line at a point gives
(1) magnetic flux (2) current

Maﬁamwmgwm:gaﬁuuo M@w !
(1) ®obd; 08 edoririn ) :mgt L:va‘n‘m

_Tbemggneuc ﬂw(passmgthronghumtareataken erpe;




84  The direction of the magnetic field lines outside the current carrying solenoid is from

(1) South to North A" 3 (2) North to South
(3) East to West P (4) West to East
g Etrpa) SOans DA wanry o0 webpe BF O By dotrod?
(1) &88=0 Dod “do f (2) aw& i»ob &80
(3) &rd) Dod BIDE : ;_ : 4) uw&;poa drd)
85 tn cloaic motors it

(1) Electrical energy is converted into mechanical energy
(2) Mechanical energy is converted into electrical energy
(3) Electrical energy is converted into light energy:,‘
(4) Mechanical energy is convened into light ener‘gif
g am-Soo‘ ‘ { :i
(1) w;ssgoﬁ-o@ugr wa»on ak

(2) csro8s 4 2B A wreod

(3) g8 48, 508 48 moa v 0¥
(4) atro@ 48, 5708 mmoo . ¥ B
e A i) HAE S

86 Which law states "the mduced &lrmﬁ”set up in the’doxl is m s

opposes the changwmthe flux"? 2
(1) Kirchhoffs law ~ (2) Lenzs lawz:x.

£ 3o
'!J‘*.-H-”};‘.{"

(3) Coulomb's law SEaameE. (4) O
d dondro (H8*60 aowg ?g?mo‘ (Hdr o L
vand) 08 whrirost w,)om xgoﬂloﬁow X
(1) 8555 doviodw ?

(3) rerod DabBEy
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87

(2) Electrostatic induction
(4) Electric shock

Induction stove works on the principle of
(1) Magnetic induction
(3) Electromagnetic induction

2048 35 O davdod N Bod?
(1) ®@anrp o8 W (2) %6 ko8 (6w
(3) dBgB wanryod (WS (4) debgh Hrdo

A conductor of length 'I' is moving perpendicular to magnetic field 'B' wiq;
'v'. The motional emf is given by - :

1 PaHce aarso, 'B' ewandyod Eeed8 woworr V' 3508 éd.mubélo a-
g BB "D g Yo w0’

B Bl
(1) Blv (2) Bv2 (3) 7 4) i

The magnenc force exerted on a 3 m length conductor carrying 2A ¢ "‘ ;
placed in a uniform magnetic field 0.4 T at an angle 30° is LAY

3 D >aD, 2A g Bordran Ko oirs 86 0.4T eoanryod wdard old
B4% 30° 'w0&® doDSIPW, © KD Sens Bavwdd @A) 08 F|& weo Jod
(1) 12N @) 12N 3) 24N (4) 24N

Which one of the following statements is correct?

(1) AC changes its magnitude but not direction
(2) DC changes its magnitude and direction
(3) DC changes its direction only

(4) AC changes both its magnitude and direction

& (Bods adgwdd rerged’ Do OGHA?

(1) AC &85 DBroind dr@d 1650008 50 BFD st
(2) DC &5 64 Dbo%y Bdrared, SrdhyHotnod

(3) DC &5 b4 8D S yH0t008
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SECTION - C : CHEMISTRY (63r0t5% #°895)

What is the symbol used in a chamcaj equatio:i to represent the gas evolved in a

reaction?
sand $6g8° b W S8 ¥ EERoS* 1r oD Dby
(1 - (2) & EEEE 3) 1 @ |

6: P &

Volume occupied by 10 g of hydmm at STP in litres is
STP 38 10 (. ma‘usumwmbw

(1 224 (2) 112 (3) 56
Quantum mechanical model of atom was developed by
(1) Neils Bohr _ AR (2) Sommerfeld
(3) Erwin Schrodmger ~ (4) Rutherford
s°got0 atrol@s Sarm SHTH P00V T

(1) 5y &6 - (2) PEDS | -

(3) =0gS @8orE iy & (@) areBT
Maximum no. of elwtmns m*t sub shell is equal to

(4) 22.4

(1) 2n? (2) ‘nBissie 9t ¢ (3) 22+ )

Number of unpaired electrons present in carbon atom
56)S soarEPS” 63) 2000 dogrye Jowg :
(1) 6 @ 4 B R ()3 @2
Law of octaves was h? :
(1) Dobereiner  (2) Moselq ~ (3) Mendeleef (4
eymmawmww £48S il
(1) arabsb (2) nrﬁ (3) 'aaoab.g ]
Number of elements pmentmsixth period ofmod K
2e388" ©6d mﬁo‘ ood froste :m‘

(1) 3 P ‘.’

LA e 3 Sy Gl
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98  Which one of the following atom is smaller in size ?

& (800 IS Sty BOIrwO g0 SEErY) 00 ?
(1) F 2) O (3) N @) C

P .
99 Jonisation energy along a period from left to right generally
(1) increases () decreasesg (3) remains same  (4) none of

andssm 38 Hoanss® v wod &g FahEd derdworr ke
(1) oD (2) b (3) &rsH 4)

100 Element with atomic number 17 bdl"t%ngs to

(1) VI A group, 2™ period ¢y (2) VILA group, 2nd period
(3) VI A group, 3™ period g (4) VII A group, 3™ period
Seare Sowg 17 do fureso 8 Do
(1) VIA 509, 2 & Ddans (2) VII A (579, 2 & D0and
(3) VI A i&r9, 3 9 ans [« (4) VILA i, 3 5 Soans
™

101 Oxygen gains electrons @ing the chemical changes.
o 2l sans aroyostadgopdl!  dossbed (Rrowmd.
(M1 (2) 2 C9513)23 4) 4

102 Number of bond pairs and lone paitis in the valence shell of nitrogen in A
NH; 6°0 385 erirg 856" d0d w6t dath 2060 JoF9S eoben

(1) 2,2 2)1.3 - @G (4) 4.0
103 Bond angle in BeCl, molecule is Um')

BeCl, ompd® w06 St

(1) 120° (2) 180° & (3) 109° 28'

SPACE FOR ROUGH@RK PRS-



104

08

lonic bond is formed due to transfer of electrons from
(1) metal atom to non-metal atom

(2) non-metal atom to metal atom

(3) non-metal atom to non-metal atom

(4) metal atom to metal atom

oS oo M8 HEg s wEd do I8 D
(1) &4 HarmP Hod V&' SSEraHH

(2) @&%s Hsdray) Wwod &' HehrmHDH

(3) ©&%s Hirad) Dod s HEr@HD
(4) &% HdrmD) Dod &' HEErHH

Polar covalent bond present in
Sy 88 Sodireday oo S0d

(1) NaCl (2) N, (3) Na,O (4) HCI
Double bond present in

B¢ 2060 50

(1) H, (2) HCI (3) N, 4) O,
The colour of methyl orange indicator in basic solution is

(1) Yellow (2) Green (3) Orange (4) Red
56 (odered® DPS wo Hrds Awgy Sorb

(1) &Y (2) eH:S) (3) wdot (4) 0D

The reaction of an acid with a base to give a salt and water is known as

(1) Oxidation (2) Reduction (3) Neutralization (4) Combustion

608 wo 363 wbD X Hbarw WS DEYED S6g

(1) efysseo (2) Zo%Eseo (3) Sexs6mo (4) &Fdo

Which one of the following is used for disinfecting drinking water?
(1) Baking soda (2) Bleaching powder

(3) Washing soda (4) Plaster of paris

o DSt (Biwed HorBo3ard8 (BN OST GHBrHODO 287?
(2) D90k 246

(1) B8oh dar
(4) 6 wd >0%

(3) ar20R dar

DLYCET-2024—A ]
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111

112

113

114

115

in water is 1454

The process of dissolving acid or base .

(1) Exothermic ;;rs;)cess (2) Endothermic proc

(3) Neutralisation (4) None of the above

e3rd) 8o oY) Ha3s* €8A0D HBad

(1) aSrss S6g (2) s S8

(3) SeYsse 363 @) D sd

The metal that occéifs in the free form (native) is

©25)38° ‘5503586‘4:. ?ﬁ»&)& S :

(1) Pb 2) Au (3) Fe (4) Hg

Galena is an ore oﬂmg

abe e30 sy oY

(1) Al (2) Pb (3) Hg 4) Zn
“ ,

In smelting the ore(i§

(1) Oxidized © (2) Neutralized

(3) Reduced ® (4) None of these

@riosos’ &P :-2

(1) osaéooéod)é)od (2) Wé’w

(3) SoursdboSexihérod (4) 28 =

s g
The hydrocarbons gntammg only single bonds between carbon atoms

=65 S65raDo g IE vorod SrED S0 808 TETE)T o
() o% @) by () Z® (4) BodS
Which one of the following is a ketone? '
& (808 836" 85°S 20?
©
o ¥

H (Tg
(1) CH;-C-CH; 4{2) CH;-0-CH; (3) CH;-CH,OH (4) CHj

SPACE FOR ROUGH WORK / 9& 308 Seranoseds oo
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116 If the hydrogen atom of ~COOH gets replaced by 'R' (alkyl group)

obtained.

(1) Acids (2) Esters (3) Ketones (4) Amines

_COOH &*3 (88 sssrand admenr R' (686 (179 (9985 S oW,
(1) wires (2) dgben (3) 885 o (4) eDFe

\D
117 The number of sigma and m-bonds in ethyne molecule : h
\

(1) 1sigma, Ix  (2) 2sigma, 2n  (3) 2 sigma, In  (4) 3 sigma, 2n
a8° oHS*D ) DB T - woGre Jowg >

D 1smpln (@) 2 5wy 2n ()2 try lngd () 3 by 2r

\O

118 The process of conversion of starches and sugars to CzHgﬁH is called
(4) Esterification

(1) Combustion (2) Hydrolysis (3) Fermentation

08 dorgren DB I8 S0 PS Ve IS M A3y (A8 .
M

(1) &&do (2) moJFHe (3) BmgiBan = (4) HOISIS
G
W

119 Which of the following is an unsaturated compound?

Eob TE36° 08 yd Fy o 67

(1) CH, (2) CH, - CH;p~

m
(3) CH;—CH = CH, (4) CH;— CH,~CH;
W

20 The final compound formed when methane react with chloﬁ;’e in presence of sunlight

is

rogs0d Hgos” g058° DBS g 2OXWYPD D68 6 é-?‘?‘édm

(1) CH,CI (2) CH,Cl, 3) CHCl; ™M (@) ccl
| &
: A0
SPACE FOR ROUGH WORK / & 508 'ééro.nggm ot
i
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123

SECTION - D : BIOLOGY (&3~9aw)

Which test is performed to identify the presence of starch in leaves?

(1) Picric acid test (2) lodine test

(3) Nessler's test (4) None of the above

©HOS" 208 SagrY GBI AOoHOD O B bBEDD?

(1) 86 e 28% (2) o@ras 0¥

(3) 69y 2bg (4) Db s :

In the mouth. the crushed food mixed with saliva which forms a slippery | m:;;
called? 3
(1) Bolus (2) Chyme

(3) Peptones (4) None of the above

TS sug enmr Savads eFdo eroseos’ SOV $bm, DM arthd JgT)

Sarged) Do ?
(1) &S ) 35
(3) W (4) 8 oo

Which of the following statement is true? :
(1) Chlorophyll 'a' is bluish green in colour and Chlorophyll 'b' is yellowish greer

colour
(2) Chlorophyll 'a' is black in colour and Chlorophyll 'b' is grey in colour

(3) Chlorophyll 'a' is yellowish green in colour and Chlorophyll 'b' is bluish g et

colour
(4) Both Chlorophyll 'a' and Chlorophyll 'b' are white in colour

(Bob DS" Db BB T Egin? 4
(1) §6%S - 'a' 5 o5t igo w0k TS - ' 508 v igod* dodd.
(2) E6%S - 'a' Sendh) H0&” HOaw FEDS - 'b' S $606* ot
(3) §6%S - 'a' &Y DB 6o Hoam TS - 'b' IO wHdIy Sos® aocm:

(4) £6°9S - 'a' oot §'6%S - 'b' Bodh Beng) H0S® dodD.

SPACE FOR ROUGH WORK / 9 #98 $travoseds sedn
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126

Choose the correct sequence of steps in Respiration.

(1) Breathing — Gaseous exchange at lungs level — Gas transport by blood —
Gascous exchange at tissue level — Cellular Respiration

(2) Breathing — Gas transport by blood — Gaseous exchange at lungs level —
Gaseous exchange at tissue level — Cellular Respiration

(3) Gaseous exchange at lungs level — Breathing — Gas transport by blood —
Gaseous echange at tissue level — Cellular Respiration

(4) Cellular Respiration — Gaseous exchange at lungs level — Gas transport by
blood — Gaseous exchange at tissue lgvel — Breathing

g (Bans® 30D IS B (KD HBOFOS.

(1) aom)goRdergren — SROBGHOS® Tray 2818 — 680 orgo° ot e — gpererd®

oy $70)8 — o FgHsan w?
(2) aT)RITgen — 880 Grgo” T ST — #1208 od" ara Er)d — §ererd’®

oy 08 — S gy 8av [
(3) &208HOS" Trath Bre)B — ST)gH ITERren — G50 Grgo° Fa EIET Seoererd’

|

o &r0)8 - S FgHBon !
(4) $» TgHBab - WO OS® ot HrPYB— B8o argoe o e —
P teb o V) ;brbg& i aav')s:() :)apsaom (V8]

Severerd®

Each ATP molecule gives how much of energy?
(1) 8700 calories  (2) 10800 calories l(.3) 7200 calories

53 ATP&® dod #8 dog dotnod? ()
(1) 8700 scoben  (2) 10800 scebew @) 7200 sroben  (4) 10000 steben

W
C¢H 204 + 60, — 6CO, +6H,0 + Energys This equation summarizes which process?
(1) Excretion

i(2) Respiration
(3) Photosynthesis

(4) 10000 calories

(4) Digestion

(1) Rs (8aw (2) =agd8aw
(3) Bomasdg HoarH (Bak (@) dg8axn

The yellowish straw colored fluid portionithat forms after the blood clot is called

OLYCET-2024—A | 27

. )
(1) Plasma (2) Fibrin I3) Serum (4) Thrombin
680 AGEES S8 DADD (8 HKoYdord (B3°R), @O,
(1) &, (2) 2O (3) o (4) (8°0®S
P
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140 Majority of flowering plants have an emb

141

142

ryo sac consisting of ;
(2) 8 cells and 8 nuclei

(1) 7 cells and 8 nuclei
(4) 5 cells and 4 nuclei

(3) 7 cells and 7 nuclei
oror HROD Ay & Dodst¥o grdwort 500 dotron.
(1) 7 Seren Hdaxw 8 iotlés'w (2) 8 Seren DO 8 Bo|&ssmen
(3) 7 Ssren 8ot 7 SoEsren (4) 5 Seren DB 4 Bo|Ss°ew
The correct order of pass;ée of spermatozoa is : 3
(1) Seminiferous tubules — Vasa efferentia —s Epididymis — Ejaculatory duct -

Urethra i
(2) Seminiferous tubules — Epidid

.

ymis — Vasa efferentia — Ejaculatory M‘::

i

Urethra R
(3) Seminiferous tubules — Ejaculatory duct — Vasa efferentia — Epididymis'.
(4) Seminiferous tubules — Ejaculatory duct — Vasa efferentia — Urethra -
Epididymis 3 < o
BB H(EETo [BaXre :n??? 6? '
(1) e c8 TP — HETVEen > RBADI > oD FF¥o— (Pe¥o

(2) HEe 58 TR — RBEVS— DHETVen — H O o - (0o
(3) BiFfer B8 TPEe qffa&o:s o BTV > RBEVT— B0
(4) HEe B8 TV 4;'3"3.06 o HETVEen 5 (HVEo— BBV
The walls of the food pi l’.:secretes a slippery substance called

(1) Amylase (2) Lipase (3) Mucus (4) Bolus
0B erdodh (hmorie B DT (Ao, i

; (2) 2“ . (3) Byo (4) &%
digested food (chyme) is released into ;
. intestine ‘(3) Small intestine (4) Rectum
2 e~ f&_mi Q&) | 28 S dose
O

s e P

£
0
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129

130

131

132

What is the name of the valve present on the right Auriculo-Ventricular 'septum b
right atrium and right ventricle called? & P
(1) Tricuspid valve (2) Bicuspid valve (3) Mitral valve  (4) Pulmonary valy

DB V5H HB wEBEH WSz HB K08 BEOS 0SS Jratin Ko EIErd) baaoe.raﬁ-f
(1) oEiSad Sveo (2) |Edgad Seo (3) WS soto  (4) DD S &

Regarding blood pressure, what is the systolic pressure in a healthy young adult‘?

(1) 80 mm of Hg (2) 20 mm of Hg | f
(3) 100 mm of Hg (4) 120 mm of Hg 2
S5 D8 Sowodod 68 rigHodBd addarshes® P08 ko Jod dotod?
(1) 80 2.5, &6 Sesdo (2) 20 2.5, 6D Sxsso 4
(3) 100 D.D. 68 Sesdo (4) 120 2.2, 6% xsdo

Evaporation of water through leaves is called?
(1) Respiration (2) Transpiration  (3) Transportation (4) Circulation
e 2o A BB ErHos” eHDY ordE) DoHh?

3
YR

(1) =gH8a0 (2) w&)8yso (3) Sorer (4) |06

Deficiency of Vasopressin causes excessive dilute urination. This condition is cal d
(1) Diabetes mellitus (2) Diabetes insipidus _’:"
(3) Scurvy (4) Beri beri i
TRHERS 0 308 S0yD M o Mr@o ©OLorr Rgosud. & JBI oh®h?
(1) Baxdess HOLS (2) doxrBES aAS
(3) %65 (4) @O BO ¢
The maximum urine storage capacity of urinary bladder is 3‘,,
(1) 2000-3000 ml. ) ~ (2) 50-100 ml.

(3) 10000—20000 ml.

“r o
.

~+ (4) 700-800 ml.
o dog dotwod.




134 Which of the following poisonous, nitrogenous byproducts are stored in different parts

i of the plants?
' (1) Tannins (2) Resins (3) Alkaloids (4) Latex

(80b 86 g 06'D 2GS Prres® dogdatud HSadaws, XKFOSDHD GHAE)T
o

(1) &R (2) B2Sen (3) wepeorandd (4) B35y

135 .is an endocrine gland, secretes the hormones insulin and glucagon.
(1) Thyroid (2) Adrenal (3) Ovary (4) Pancreas
29105 HBK ArETS od FE D on JTY|(508 (HDoH.
(1) 3orawb (2) o838 (3) & Dastdo (4) $do

136 causes ripening of fruits.

’ (1) Ethylene (2) Auxins (3) Cytokinins (4) Gibberellins

S0 doren 35788 Hb)H.

(1) =885 (2) =835) (3) 257335 (4) 2)B08)

137 Roots grow downwards, plants respond positively for gravitational force. What is this

called?
(1) Phototropism  (2) Geotropism (3) Hydrotropism (4) Thigmotropism

36 grd B DDE00, G en HOHEEG o T PS0OT . B ddoHh?
(1) 508 eD363%0 (2) Moegddsto (3) DS w0 (4) o )6Ro

38 bacteria is responsible for the formation of curd from milk.
(1) Bacillus thuringiensis (2) Lactobacillus
(3) Pseudomonas (4) Xanthomonas
Fowod oD SarsSaIs orfoos 8d)deod.
(1) rdeoS &B60ZRS - (2) oFades
(3) 28D  (4) o8BS

9 Examples of propagation by stem are :
(1) Stolons and runners (2) Bulbs and corms
(3) Rhizome and tuber (4) All of the above

Moyrwp&pgmﬁwmw
(N Mm&w e (2) vdbaren Do Sodo
(3) Py Dok S0D S*odo | (4) DD )




45 The number of allosomes in human cell are

SrasEnod’ Bons Ls‘aré‘tmo (allosomes) Jomg . .

(1) 2 (2) 4 (3) 23 (4) 46

146 Change in the frequency of genes in small populations is called i
(1) Varation (2) Mutation (3) Genetic drift (4) Evolution
D9 mrred” ey Som 05008 Soése Hddorr adgHe DaRgos” ard)en
Ddbda':)l ®0érd.
(1) sgo (2) B8 (3) axdg Ao (4) Hoe~o

human beings is called
(4) Mutation

47 Occurence of vestigial organs abruptly in

(1) Atavism (2) Dwarfism (3) Regeneration
ArsHes” el dm oSEs esahTren 30A EModard) ©otrd.
(1) sédeo (2) DSHrE0 (3) HHE3 (4) D069

48 The process of entry of pollutants into a food chain is known as :
(2) Bioaccumulation

(1) Restoration '
(3) Biomagnification (4) Food web
SFEY Fedd” sendrged BS) ©oerd.

(1) DS (2) B8 $gido
(3) B2 5)Bsce (4) wiFsy o
Seeds from plants are used for the production of biofuel.
(1) Jatropha (2) Chrysanthemum (3) Hibiscus (4) Cuscuta
&5 mogo 68)38 gy BuE WTod Tied.
(1) =8> (2) oodod (3) docd (4) sdpger
Coal, Petroleum (0il) and Natural Gas belongs to which type of fuels?
(1) Chemical fuels (2) Bio fuels

i (4) Fossil fuels

(3) Sunlight

&6, & Do HO s D D 658 Dodd wogTren?
(1) GandS B0GTe . AV mococ)
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